1. Pemmre ypasuenue: (z+2)(1—1i) =2.
1) z=—-1+2i 2) z=1+i Nz=—-1—i
4 z=—1+i 5 z=i+i 6)z=—1+7

2. Pemmre ypasnenue: (1+1)(z—3) = —3.
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3. Pemnre ypasuenne: 37 —Z = Rez+ 1.
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4. Peumre ypasuenue: 27+7=1—1Imz.
i 1 1 1
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5. P =
eIINTEe YpaBHEHUE T+
Dz=1-7 2z=-1-i 3)z=—i"—i
4 z=1-i 5)z=1+2i 6) z=1—4i
1 1—i
6. Pemmre ypaBHeHHe: — = ——.
Z 1
L, i S 1
Dz==-+= 2)z=———. =——4 -
)i=513 )i=575 D=ty
1 i 1 i 1 i
4)z2=—-—=. 5z=—+=. 6)z=—=+—.
)i="373 )i=7373 )i=7373
7. Pemmre ypaBHEHHE: 2 =—1.
D1-i 2)—i 3)i 4H1+i 5)—-1-i
6)—1+i
8. Pemmre ypaBHeHHUE: 2 =i
V2 V2, 2 V2 V2
== - _*= [ 2i
1)z 5 5 2) z 5 21 3)z 2+\/_z
V2 V2 V2. V2 V2
4) z=V2+4+—i =—+— =—— 4+
) 2 \/—+21 5)z 2+2 6) z 2+21
9. Pemmre ypaBHeHHe: 2=1.
1 V3 1 V3
=1 - _v T At
)z , 2) z 5 > 3)z 2+ >
1 V3 1 V3 1 V3
4) 7= ——+-22 —_-_ V2 L
)i=mpt s ViIE 0z=-3"7
10. Pemwure ypaBHeHue: 2=-1.
1 V3
)z=—-1-1i 2)z=-1 3) 7= -+ =
)z i )z )z )
1 V3 1 V3
4)Z—§—T S)ZfE—FT. 6) 7=
11. Pemnte ypaBHeHue: =i
3 1 . .
Dz:—%;—ii V=i 3 z=—i
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V3 1 V3 o1 V3 o1

4) 7=——""+—i 5) z=—"—"F——i 6) 7= —+—=i

Ji=— Al V=gl Q=g

12. Pemnte ypaBHEHHE: 2 =—i

V3o V3 V3 i

1)z 7 "3 2) z 5 i )z 2+2
V3 i V3o ,
4)Z—*7+§ S)Z—T*E 6)Z—l

13. Pemmre ypasrenne: 7> —4z+5 = 0.

)z=1 2)z=2+1 ) z=1+i 4)yz=2~-1i
5)z=-2+i 6) z=2i

14. Pemmre ypaBHEHHE: 2 +3z+4=0.

3 V7. 3 V7. 3 V7.
l)Z——E-‘rTl 2)2——5—71 3)2—5—71,
7 3 7 V7.
4”:%? Ni=, % 6)z=-2-514,

15. Pewnre ypaBHeHue: 272 +8z+11=0.

. /3 . /3 o /3
l)Z:l\/;, 2)Z—*l\/g, 3)z= 2+l\/;
. /3 . /3 _ . /3
4)1:2—1\/;, 5)2—2—0—1\/; 6)z——2—1\/;

16. Pemmre ypasuenue: 3z° —6z+9 = 0.

Dz=1-ivV2 2)z=-2+iV2. 3)z=2+iV2.
4 z=ivV2.  S5z=1+iV2 6 z=-1-iV2.

17. Peuwnre ypaBHEHHE: F422+41=0.

z=1-i 2) z=1i 3) z=2i 4)z=—i
5) z=—2i 6)z=1

18. Pemmte ypaBHeHHE: F—22+1=0.

z=i, 2 z=-1+i, 3)z=1—i, 4)z=1
5)z=—1  6)z=—i,
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